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|, e STEf & Jdem & fau seed = ¥ fem s R
An application for the renewal of Driving License shall be made in :

(A) wH 9

Form 9

(B) wIH 8

Form 8

(C) wid 7

Form 7

(D) wid 6.

Form 6.

2, T 1 @ UEET AT HI UEE, HI W "
A transport vehicle can be identified by looking at the :

(A) = % R
Tyres of the Vehicle

(B) @&d, = T qEL
Number Plate of the Vehicle

(C) amgm s I
Colour of the Vehicle

(D) 989 & SR
Size of the Vehicle.

3. HET 98T % U & feu oemeew T o fem s =t
An application for registration of a motor vehicle shall be made in :

(A) ®IH 20

Form 20

(B) wH 29

Form 29

(C) wid 25

Form 25

(D) ®IH 26.

Form 26.

Series-A (3) P.T. O.



4. CNG = [ ®9 2:
CNG stands for :

(A) 9= Ui g
Common Natural Gas
(B) wifed wrsfas 9

Compressed Natural Gas

(C) wred qrpfass T
Carbon Natural Gas

(D) vfa wrpfas 9]
Cold Natural Gas.

5. TE T w9g 9 st el R s @ Thudt @ oK 39 SR o S 7, | SR

While driving if your vehicle hits a person and person gets injured, you should:

(A) afs +E TEE T B A W e § 59 fgeaw =feu
Escape from the scene if there are no witnesses

(B) sa =afga =i fafecn 0 = fau s s3m =nfeu

Take steps to ensure medical attention to the injured

(C) U= W & Bigwl TEH gfow wWyw W e w o=
Leave the scene and report to nearest Police station

(D) FEfeamfas w1 gfag & 30 =ifer R T "I a%
watear HwEA =)

Inform Office/Owner and wait at the scene for them to arrive.

6. w AN W ME wed % fou gAaw fafuw diw o s @2

What is the Legal Minimum Insurance cover you must have to drive a vehicle on
Public roads ?

(A) 9w e W e

Personal Injury Cover

(B) gof ®9 ¥ =7
Fully Comprehensive

(C) dfra wehR, 7 IR =
Third party, fire and theft

(D) ®aa qAE GETERI
Third Party only.

Series-A (4)



7.

9.

Series-A (

TEE W Yed WM % Afusr feEsr 22
Who has the right of way in the hills ?
(A) S0 ® SR arer e

The Vehicle going downbhill
(B) wfifeurfs m fadft wwar #

Depends upon the situation
(C) ¥gE W WA drel el

The vehicle going uphill
(D) #tfus Wl arEd|

The heavier vehicle.

23456 3R 45678 H AN B
The sum of 23456 and 45678 is :

(A) 69134
(B) 69132
(C) 79314

(D) 68314.

afz X = 98765 3R Y = 56789 ®, @ X-Y ©:
If X = 98765 and Y = 56789, then X-Y is :

(A) 41986

(B) 42976

(C) 41966

(D) 41976.

7]
S

P.T.O.



10. 9 P=1234 3R Q=11 2, & P x Q ¥ 7
If P=1234 and Q = 11, then P x Q equals :

(A) 12340

(B) 13474

(C) 13574

(D) 14574.

11, A e g 15 Fd/ee ® dien g @ §, @ 105 fEdHL # g @m W
% fou v o @ ufomy @ @2
If a vehicle gives a mileage of 15 kms/ltr., the quantity of fuel required to cover
a distance of 105 kms is :

(A) 6 &
6 ltrs.
(B) 15 &=
15 ltrs.
(C) 5 =i I
5 ltrs.
(D) 7 ==
7 ltrs.

12. 50 W 50% R B7
What is 50% of 50 ?

(A) 50

(B) 25

(C) 250

(D) 100.

Series-A (6)
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13. 100 H 4000 &1 25% el ST, @ wRemw -
When 100 is added to 25% of 4000, then the result will be :

(A) 1100

(B) 1000

(C) 900

(D) 2100.

14, YNG &1 T @& I HE HoE?
Which is the longest river of India ?

(A) T=TERT

Gadavari

(B) T

Ganga

(C) =g

Yamuna

(D) =T

Cauvery.

15. TSR =M W% Wes o 9l
Major Dhyan Chand was a legendary :
(A) Feara faere!

Football Player

(B) @i facmet

Hockey Player

(C) Twrme faarst

Cricket Player

(D) ®waggl faeneT

Kabaddi Player.

Series-A (7) P.T.O.



16. 9Rd H fF@ TF # g oAdl de@r @2
Which State in India has got the longest Coast line ?

(A) HEWIS
Maharashtra
(B) &¥a

Kerala

(C) =@

Gujarat

(D) g9l
Andhra Pradesh.

17. feumer W % W gEAEA w97
Who was the First Chief Minister of Himachal Pradesh ?
(A) arws e
Vidbhadra Singh
(B) TRt TH e
Thakur Ram Lal
(C) =vrgd fag wHR

Yashwant Singh Parmar
(D) wmar HER

Shanta Kumar.

18. wHl ® gg wA FI A7
When did the Battle of Plassey take place ?
(A) 1857 %.
1857 A.D.
(B) 1757 2.
1757 A.D.
(C) 1764 3.
1764 A.D.
(D) 1858 %.
1858 A.D.
Series-A (8)




19. Tt =mer 3 few wd ¥ w@ul uge Sir?

In which game Neeraj Chopra won Gold medal ?

(A) fe=rg ot
Discus Throw

(B) dRaTst
Archery

(C) e T
Javelin Throw

(D) wefiea

Badminton.

20. Teame & <iwEw # W= gEm fea @2
How many Lok Sabha Seats does Himachal has?

(A) 3
(B) 5
(C) 7

(D) 4.

21. =igAel e fee foe o fem @2
In which District the Chandratal Lake is situated ?
(A) fF=iR
Kinnour
(B) fawik
Sirmour
(C) =
Chamba
(D) =ete fefa
Lahaul Spiti.

Series-A (9)

P.T.O.



22. wE TRy @ defem 22
To whom FASTag is related ?
(A) 3. 2@ THAH

E-toll aggregation

(B) TA.w=.L.3E. (NHAI)
NHAI

(C) (A) @R’ (B) =[f

Both (A) and (B)

(D) =79 | HE L

None of these.

23, WS TE w1 afgE AW F e

What is the Vedic name of river Ravi ?

(A) fagrer
Vipasha
(B) =hrferst
Kalindi
(C) =gzt
Satudri
(D) gsfou
Parusni.
24, fetfefed amamea d%a (ae |9 W@ SN o q2e)
gfed #T 2?
The following Traffic sign (with Red Border and Red Band)
indicates :
(A)  waw fafrg
No entry
(B) fgumit wed
Two Ways Sign
(C) =rff " &l

No right turn
(D) TUH TR Hehdl

One way sign.

Series-A (10)



26.

27.

Series-A

o fom oW e E

This sign represents ................
(A) M qA HR wEw R
Roads on both sides in front
(B) &1 §HU 1@ %
Narrow Bridge Ahead
(C) =m T&dl G #
Narrow Road Ahead
(D) Yfaey HaT|

Restrictions ends.

This sign represents ...............

(A) wUEE ITER 5
First Aid Post

(B) <MW & ®HI W@
Resting Place

(C)  oTegdre
Hospital
(D) = 9 @ 7=

None of these.

This sign represents ...............

(A) =
Cross Road

(B) vaw fry ?
No Entry

(C)  rTuara
Hospital

(D) ==ftw
Stop.

(11)

P.T.O.



Series-A

(A)

(B)

(©

(D)

50 fedi/ever wt nfa Hm § awea =
Drive the vehicle not exceeding 50 km/hr.
50 fedt/eme w1 wfa 9 sfusw ard =@
Drive the vehicle at more 50 km/hr.

Had 50 fwRHAL/ETE w1 MG G O oAwd =@
Drive the vehicle only at the speed of 50
km/hr.

Y g HE T

None of these.

Te fog weffm s &

This sign represents ...............

(A)

(B)

(©)

(D)

Fad 3.5 HIR W A HEE 9 g9l & o gew

Entry only for vehicles with height above 3.5
meters

15 W § ofyw ded A A % fau waw
Entry only for vehicles with width above 3.5

meters

T 9l # fow yaw fSme) =i 3.5 e 9 sifts 9 &

Entry for vehicles having height not exceeding

3.5 meters
=H 9 W 9
None of these.

(12)
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31. % ;

) E
i
i

Series-A

T2 o w=fi| sw g

This sign represents ................
(A) = SR EH

Stop on the left side
(B) 9% X ol SR

Compulsory keep left
(C) =g q€

Turn left
(D) 3E TE &

Stop on the right side.

7% =% EENGECTGI| | S

This sign represents ................

(A) Tod By fawe 2
Railway Station nearby
(B) ®ra ed WHYR SHITET
Unguarded level crossing
(C) aa w99 wifam
Guarded level crossing
(D) T § ®F T

None of these.

e fog wefi|m = 8
This sign represents ................

(A) i afém @
Parking is Prohibited

(B) =l @ wiem @
Both sides Parking

(C) Yfew Tema =t
Police Aid Post

(D) T ° ®E T

None of these.

(13)

P.T.O.



33.

34.

Series-A

72 o wfi| s g

This sign represents ................
(A) TrgeR 98 9%
Slippery Road
(B) =g stiawfen e
No Overtaking
(C) d% @ e
Risk of Ice
(D) WE gEd
Side winds.

77 fag w=eflg s@ 2

This sign represents ................
(A) 9¢ ¥g Thd ©
May turn to left
(B) & W A o¢ qEAl @l @
Compulsory go ahead or turn left
(C) = =N "egw
Side road left
(D) =@ a1 A F

Compulsory turn right.

7% fog weffm @@ 2

This sign represents ................
(A) FHw fAuy
End of Restriction

(B) 3eftw &
Do not stop

(C) @A @l FE T 7
No Parking

(D) waw fAuy )
No Entry.

(14)




36.

37

38.

Series-A

T2 o w=fi| sw g

This sign represents ................
(A) = HEFT frr e
Right reverse bend
(B) ¢ Hgat fww e
Left reverse bend
(C) =m gfegw 3 Hw =feg
Turn right and go ahead
(D) T & HE T

None of these.

77 fag w=eflg s@ 2

This sign represents ................
(A) & TE HEO B
Narrow road ahead
(B) EAGTH TEEl @
Dangerous dip
(C) it
Ferry
(D) = H ®HF el

None of these.

7% fog weffm @@ 2

This sign represents ................

(A) o TEr g R
Loose gravel

(B) T frgem w0 2
Slippery road

(C) = = & fau yaor fwy
No entry for Motor car

(D) 9 9 g T&il

None of these,

(15)

P.T.O.



39. 7w fog el s 2

This sign represents ................
(A) %l A wew

Hump or Rough road
(B) 2@ Hel =

Zigzag road
(C) ®=me T

Ghat road
(D) T H & TR

None of these.

40. R A
This sign represents ................
(A) wem o Al
Drainage in middle
(B) @ =@
Bridge ahead
(C) = # oma
Gap in median
(D) 39Us G
All of above.
4. T FE WRW oww

This sign represents ................

(A) = Bd ®W T
Children playing

(B) oeHt #H W @ T
Men at work

(C) @ Ant wifEm
Pedestrian Crossing

(D) T ¥ HE T

None of these.

Series-A (16)




42. 7w fog el s 2

This sign represents ................

(A) Tamneff fAoy

Students prohibited

(B) 9EEEl erHd

Pedestrians permitted

(C) vt ey
Pedestrians prohibited
(D) wifeen e

Parking prohibited.

3. fod 7€ R # fou s 9 § fRu 9H 9@ # # @y w22

One time tax for a New Car for :

(A) 39 FH F1 Usiad fom B9 %

Till the registration of the vehicle is cancelled

(B) 15 3w =& fau
15 years

(C) 5 5af & fou

5 years

(D) ¥ | #E L

None of these.

44, UfEE T F GRHE WW HE K oeH g 7
Minimum age for obtaining Driving license for Transport vehicles :
(A) 25 =
25 years
(B) 18 =
18 years
(C) 20 = —
20 years
(D) 16 =d|
16 years.

Series-A (17) P.T.O.



45. Trdt fst aed =t orwd el ema <o el @

The number of passengers permitted to be taken in a Private vehicle is recorded
in the :

(A) dsfa ymmor 9F o
Registration Certificate
(B) 299 %A o
Tax Token
(C) wtfe #
Permit
(D) =" § wiE T
None of these.

46. Todt off ae" w1 $9A wifed & W GE:

Before starting the engine of a vehicle :

(A) fedex & wHr &1 WX T I59 & dd H WL SF HL oA GNeg
Check Radiator water level and Engine oil level

(B) 32 WEZ #I W9 ¢ =MfEU
Check head light

(C) 9% =4 =fey
Check brake

(D) ¥ ¥ *E T

None of these.

47. BS-6 THad wm=fem 27
BS-6 is related with whom ?

(A) 5 aHan

Engine capacity
(B) soifges =med
Electric vehicle

(C) 99T HH

Pollution standards
(D) ggum E|

Pollution control.

Series-A (18)



48. Vel IAl fRE @@ @ HWag ©?
Shaifali Verma associated with which Sport?

(A) BTt
Hockey
(B) fome
Cricket
(C) frem @msit
Shooting
(D) =l
Wrestling.

19. TEEE e frm faem ¥ fem
In which district Gadasaru Lake is situated ?
(A) =TT
Kangra
(B) #wEl
Mandi
(C) =
Chamba
(D) wreH|

Solan.
50. Find the correctly spelt word :
(A) Agressive
(B) Agrressive
(C) Aggressive

(D) Aggresive.

Series-A (19)

P.T.O.



51. Find the correctly spelt word :

(A) Recruitment

(B) Recuitment

(C) Recrruitment

(D) Recruittment.

52. Choose the alternative which best expresses the meaning of the word

“DILIGENT” :

(A) Hardworking

(B) Proud

(C) Weak

(D) Great.

53. Choose the alternative which best expresses the opposite of the meaning of word

“PERFECT” :

(A) Defect

(B) Complete

(C) Imperfect

(D) Ugly.

Series-A (20)



54. Someone has ................ my bag.

(A) move

(B) moves

(C) moving

(D) moved.

55. T always ....cccuvvneeee. before bed.

(A) read

(B) to read

(C) reading

(D) reads.

56. Find the correct answer : “Rolling stone ........ccccccceeiniiiins

(A) Gathers no moss

(B) Always shines

(C) Always falls

(D) Gathers no speed.

Series-A (21) P.T.O.



57. ‘Raj is an excellent driver’. Find the ‘adjective’ in the sentence :
(A) Raj
(B) is
(C) driver

(D) excellent.

58, wm@ w1 faom v @ @7
(A) 3H®=
(B) faq@
(C) 9q@

(D) st

59. Hifesw =1 oo™ T o 8?2
(A) fafem
(B) =fed
(C) dfed

(D) arfafemal

Series-A (22)




M vl @ fog U v sEEw
60. S UES @i 7 g Bl

(A) 7994

(B) ervd

(C) sqd

(D) 7=

61. S ®gd & @l Bl

(A) afeR

(B) =gd

(C) F==™

(D) ==l

62. FE I agA

(A) &

(B) =radan

(C) &y

(D) 379 ® wE A€

Series-A (23) P.T.O.



63. TG VR H TIT I

64. TG IR HI FAT I

65.

(A) =T

(B) =901

(C) ==y

(D) sr=ryrom)

~

(A) T

(B) =fm

(C) Tfra

(D) =4

~

Y& VR Hl FIT KIS

(A) Far=a]

(B) wame)

(C) wmarfs

(D) vrarsT|

Series-A

(24)




66. FLT G FIHIA TEUE wel g #7
Where is the Central Potato Research Institute situated?

(A) =1TST

Kangra

(B) #UEt

Mandi

(C) Terwen

Shimla

(D) Frem|

Solan.

67. Teu=d B9 % UYH oAU HE 92
Who was the first Governor of Himachal Pradesh?

(A) TEa fag @R

Yashwant Singh Parmar

(B) 3 ™ ToE

Thakur Ram Singh

(C) T™. FFhadr
S. Chakravarti

(D) =79 9 i &

None of the above.

68. HEHT el Ueell 9 fyHen w9 w9
When did Mahatama Gandhi visit Shimla for the first time?

(A) 1921

(B) 1923

(C) 1925

(D) 1927.

Series-A (25) P.T.O.



69. e & R a1 WEA & a9 H W 5579 HeR 2 FE U fwamder ¥ R @2
The distance between Rohan’s house and School is 5579 m. What is the distance
in kilometers?

(A) 55.79

(B) 5.579

(C) 557.9

(D) 5.5790.

70. 10 3R 20 % &= H fean fam gemd &2

How many odd numbers are there between 10 and 20 ?

(A) 4

(B) 5

(C) 6

(D) 9.

71. WM Seltaga oiEsE wel W fem 22

Where the Shanan Hydel Power Project is located ?

(A) sitfis TR
Joginder Nagar

(B) ==
Chamba

(C) T
Rampur

(D) f=atl
Kibbar.

Series-A (26)



72. W& fodr @& =i T 1 q fEm s %, a oftom '
When a number is multiplied by 1, the result will be :

(A) Same as the number

(B) 1

(C) 0

(D) 2.

73. @9 "Emst 9, 15 SR 21 & S 2

The average of three numbers 9, 15 and 21 is :

(A) 9

(B) 21

(C) 15

(D) 5.

74. Afs ) Gemell w1 orgd 33 B SR UH GEN 44 ®, A T Hewm
Bl
If the average of two numbers is 33 and one of the numbers is 44, then the other
number will be :

(A) 22

(B) 77

(C) 11

(D) 0.

Series-A (27) P.T.O.



75. Toreh e o oIl oM oigfwdl 1 UM S : 4 ©1 AR ®mA W 60 wsfwAl @,
a war § TR wew 87
The ratio of boys and girls in a class is 5 : 4. If there are 60 girls in the class, then
how many boys are there in the class ?

(A) 65

(B) 50

(C) 75

(D) 60.

76. S dn feam wa wAE S R?
When the International Day of Yoga is celebrated ?

(A) 5th December

(B) 14th November

(C) 2nd October

(D) 21st June.

77. ARA Rl Ul T WA A 17
Who was the first Governor General of India ?7

(A) g efeg

Warren Hastings

(B) fafeam «few
William Bentinck

(C) =fam

Canning

(D) =79 | &E 7=
None of these.

Series-A (28)



78. ‘‘Tempall ot few’’ q&® & o@d &H 9?2
Who wrote the book “Discovery of India” ?

(A) W e

Mahatma Gandhi

(B) #iUs =@TE

Morarji Desai

(C) vEmEt &d 8%

Jawahar Lal Nehru

(D) =79 9 HrE &

None of these.

79. ™ WAN @I A THREA & i
Who was the founder of Arya Samaj ?
(A) @Hl TIHS |/

Swami Dayanand Saraswati

(B) @ faadsm=

Swami Vivekanand

(C) Tr=n THAEES T

Raja Rammohan Roy

(D) ®3E =I5 99
Keshab Chandra Sen.

80. “‘ToISl WU wigg feER ¥ MR H T o wm fEE wmE em?
Who spoke the words “Swaraj is my birthright and I shall have it” ?
(A) efe=] =9

Aurobindo Ghosh

(B) st.dl. U
B.C. Pal

(C) = wmeR faereh
Bal Gangadhar Tilak

(D) ™| e
Mahatma Gandhi.

Series-A (29) P.T.O.



g]. et @@ & M F| AT & fau e S 82

Richter scale is used for measuring :
(A) 39 &1 =TA
Density of Liquid
(B) @Ml i e
Depth of Mines
(C) g™ = dladl
Intensity of an Earthquake
(D) 379 9 & &0
None of these.
82. WS I I USHM &:

The Capital of Saudi Arabia is :
(A) derar
Melbourne
(B) =
Rome
(C) dfm
Paris
(D) feam
Riyadh.

83. 3F WR ¥ &M ® T et 22
Which river empties itself into the Arabian Sea ?
(A) 5T
Narmada
(B) ®WeTEl
Mahanadi
(C) zom
Krishna
(D) =ral

Cauvery.

Series-A (30)




84. ‘‘gien HEear’ ANF S@d R T W WERT S e
In which State “Hola Mohalla” festival is celebrated ?
(A) ==

Kerela

(B) dfgerarg

Tamil Nadu

(C) 9"

Punjab

(D) 189

Assam.

85. geddl # ffea et 2:
The Chief Minister is appointed by :
(A) T=FIE BT

Governor

(B) wrezufa g

President

(C) 9 & H&A =ATHY g

Chief Justice of India

(D) 379 ¥ *E &

None of these.

;Aée@‘:, &@ﬂ'.k‘;
o "b e r,_;\‘ 1

Series-A (31) P.T.O.
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. fox =a &1 WM #& A9 ® foau fewm S 22

Richter scale is used for measuring :

(A) 59 1 T

Density of Liquid

(B) @&l H1 TEE

Depth of Mines

(C) ¥ I e

Intensity of an Earthquake

(D) 379 | & TRl

None of these.

2. WS IE H TAEH 2
The Capital of Saudi Arabia is :

(A) Herer

Melbourne

(B) T

Rome

(C) df=

Paris

(D) frm

Riyadh.

3. @E Wk W &M d A et 22
Which river empties itself into the Arabian Sea ?

(A) e

Narmada

(B) ®ETHR
Mahanadi

(C) zwm
Krishna

(D) =1

Cauvery.

Series-B (3) P.T.O.



4. “‘gren wEeen’ AWe Sod fRE T H wERn wml @2
In which State “Hola Mohalla” festival is celebrated ?
(A) H&
Kerela
(B) dfgerarg
Tamil Nadu
(C) da=
Punjab
(D) 19w

Assam.

5. wemHst &1 fgf e @
The Chief Minister is appointed by :
(A) THUTEd B
Governor
(B) wegafa gra
President
(C) 9Ra & {&A =y gm
Chief Justice of India
(D) 31 ¥ ®E T

None of these.

6. oM AN % A & faw emeRd H fem S B

An application for the renewal of Driving License shall be made in :

(A) wiH 9

Form 9

(B) wd 8
Form 8

(C) wiE 7

Form 7

(D) ®id 6.

Form 6.

Series-B (4)




7. T | Y@ UNEEd Aed W1 UeWH & W Wehdl €l
A transport vehicle can be identified by looking at the :

(A) a®9 & AL
Tyres of the Vehicle

(B) 984 & TR UL
Number Plate of the Vehicle

(C) am®a & I
Colour of the Vehicle

(D) 9" % 3T
Size of the Vehicle.

8. WX d®'A % Teiew & fauw e o fea s =nfeu

An application for registration of a motor vehicle shall be made in :

(A) w19 20

Form 20

(B) ®w1H 29

Form 29

(C) wid 25
Form 25

(D) wE 26.
Form 26.

9. CNG = T ¥4 %:
CNG stands for :

(A) 9MET= Wihfas 9

Common Natural Gas

(B) Hdifeq wrsfasw =

Compressed Natural Gas

(C) =T Yrpfas 9

Carbon Natural Gas

(D) v wrpfas 9
Cold Natural Gas.

Series-B (5) P.T.O.



10. TMET A THA AfG IRt MEr e oo § ZRUdl § S SH W o Sl €, f SRl
While driving if your vehicle hits a person and person gets injured, you should:
(A) afs ®1E e T B A Hed @ § @9 Ao =men
Escape from the scene if there are no witnesses
(B) smaa =afaa &1 fafeden & & fau &wsw sem =nfeu
Take steps to ensure medical attention to the injured
(C) =T T/ & SigH Aegis! Jfag ©yw W e #1 = =feu
Leave the scene and report to nearest Police station
(D) wEiaa/mfes #1 gfaa &7 31 =@ifet R ST% TgEd a%
ydten wE =fe)

Inform Office/Owner and wait at the scene for them to arrive.

1. ek | W ME "o & fau =pem fafus dm ot e @2

What is the Legal Minimum Insurance cover you must have to drive a vehicle on
Public roads ?

(A) Fafws =re @ s
Personal Injury Cover
(B) qui ®9 ¥ =9

Fully Comprehensive
(C) gata gareRr, o iR =
Third party, fire and theft
(D) 9@ TdEF FETER
Third Party only.

12. TBET W Ued WM % AfuwR fREE 22
Who has the right of way in the hills ?
(A) 00 | 9 At e

The Vehicle going downhill
(B) ufifeafs w fadk =war 2

Depends upon the situation
(C) W= W WA dreft et

The vehicle going uphill
(D) =iy At =med|

The heavier vehicle.

Series-B (6)



13. 23456 3 45678 1 AM B:

The sum of 23456 and 45678 is :

(A) 69134

(B) 69132

(C) 79314

(D) 68314.

14. aff X = 98765 3 Y = 56789 %, @ X-Y @:

If X = 98765 and Y = 56789, then X-Y is :

(A) 41986

(B) 42976

(C) 41966

(D) 41976.

15. aff P=1234 3R Q=11 &, @ P x Q = @7

If P= 1234 and Q = 11, then P x Q equals :

(A) 12340

(B) 13474

(C) 13574

(D) 14574.

Series-B (7) P.T.O.



16. afE FE ard 15 FRA/de ® dia g 3@ 2, @ 105 fEAdL g @@
% foau omavas foF & uRomH #E @2
If a vehicle gives a mlleage of 15 kms/ltr., the quantity of fuel required to cover
a distance of 105 kms is :

(A) 6 =X
6 ltrs.

(B) 15 @ffex
15 ltrs.

(C) 5 X
5 ltrs.
(D) 7 ©X
7 ltrs.

17. 50 &1 50% =1 27
What is 50% of 50 ?

(A) 50

(B) 25

(C) 250

(D) 100.

18. 100 H 4000 w1 25% Wl WG, & whomm r
When 100 is added to 25% of 4000, then the result will be :

(A) 1100

(B) 1000

(C) 900

(D) 2100.

Series-B (8)



19. 9Rd 1 GaH &t T& HH G e?

Which is the longest river of India ?
(A) T=red
Gadavari
(B) mm
Ganga
(C) =g
Yamuna
(D) =re

Cauvery.

20. OSK &AM W g 8

21.

Major Dhyan Chand was a legendary :
(A) oo faaret
Football Player
(B) w=#T feremet
Hockey Player
(C) Tz fEaret
Cricket Player

(D) waser fearE

Kabaddi Player.

gd W TR U9 w1 geg ol deEn @2
Which State in India has got the longest Coast line ?

(A) HETsg
Maharashtra
(B) =
Kerala
(C) T
Gujarat
(D) sgY=l
Andhra Pradesh.

Series-B (9)

P.T.O.



22. feume W@ & e gEEA ®E 94
Who was the First Chief Minister of Himachal Pradesh ?
(A) =Rz e
Vidbhadra Singh
(B) 3Rt TH @A
Thakur Ram Lal
(C) =vEd e R

Yashwant Singh Parmar
(D) emdl /AR

Shanta Kumar.

23. wHl K1 gH he gIM U1?
When did the Battle of Plassey take place ?
(A) 1857 %
1857 A.D.
(B) 1757 %
1757 A.D.
(C) 1764 3.
1764 A.D.
(D) 1858 %
1858 A.D.

24, e =vE 4 fFE ©@a ® @ul ygew Sfrar?

In which game Neeraj Chopra won Gold medal ?

(A) fewma ot
Discus Throw

(B) drarsit
Archery

(C) wmen T
Javelin Throw

(D) defiea

Badminton.

Series-B (10)




25. feuraer ® Seww # WS wen fEan w2

26.

How many Lok Sabha Seats does Himachal has?

(A) 3

(B) 5

(C) 7

(D) 4.

gsarel oie few oo § feem 22

In which District the Chandratal Lake is situated ?

A) fe=r
Kinnour

(B) fawR
Sirmour

(C) =w=n
Chamba

(D) @rera feafa
Lahaul Spiti.

27. HTET fRY ® gafud w7

To whom FASTag is related ?
(A) 3. 2@ TS
E-toll aggregation
(B) T.ta.uemE. (NHAID)
NHAI
(C) (A) &R (B) =mMf
Both (A) and (B)
(D) 399 9 &3 &l

None of these.

Series-B (11)

P.T.O.



1 e M - = |

What is the Vedic name of river Ravi ?

(A) femme
Vipasha
(B) =ferat
Kalindi
(C) Hqst
Satudri
(D) Tfe
Parusni.
29. freAfefed =mm@m dha (@ 9o @ @R oe ged)
gfad #a 7?2
The following Traffic sign (with Red Border and Red Band)
indicates :
(A)  waw ffrg
No entry
(B) fgaril H&a
Two Ways Sign
(C) =rff =g &
No right turn
(D) T& TR Gehdl
One way sign.
30. Tg fog wffm s ¢

This sign represents ................
(A) @m FE R wEw
Roads on both sides in front
(B) &M @®HU UA
Narrow Bridge Ahead
(C) o & wE B
Narrow Road Ahead
(D) wfday gaT<|

Restrictions ends.

Series-B (12)



31.

32.

33.

Series-B

T2 o w=fi| s g

This sign represents ...............

(A)

(B)

(©)

(D)

Tafis SR %=
First Aid Post
FANH A FH SR
Resting Place
FHEATA

Hospital

TH § &g Al

None of these.

78 fog weffd w8

This sign represents ...............

(A)

(B)

(C)

(D)

<Rrer

Cross Road
vay oy 2
No Entry
HHEATA
Hospital
gl

Stop.

7% fog weffm w8

This sign represents ...............

(A)

(B)

(C)

(D)

50 fw.dt/ema &t wfs i § d9es gend
Drive the vehicle not exceeding 50 km/hr.
50 fw.t/ever &1 fd § sfysw a@med =9
Drive the vehicle at more 50 km/hr.

Faa 50 fwdieve w1 ufa ¥ @ oawa 9w

Drive the vehicle only at the speed of 50
km/hr.

WY 9 FrE T
None of these.

(13) P.T.O.




34, T2 o w=fi| s g
@ This sign represents ...............
(A)  Had 3.5 M 9 Afus FIE 9 9edl & fau g=gw

Entry only for vehicles with height above 3.5

meters

(B) 3.5 Hiw § ifys w=ieR 9« daEdal % fow gew
Entry only for vehicles with width above 3.5
meters

(C) g el & foau yow fomet S8 3.5 dex 9 sifymm 9 @
Entry for vehicles having height not exceeding

3.5 meters
(D) T | ®E &l

None of these.

35. 7% fog weffm w@ 7 o
This sign represents ................
(A) % &I &
Stop on the left side
(B) &€ 3 woml dersn
Compulsory keep left
(C) = 1
Turn left
(D) =E WE T
Stop on the right side.

36. & fog wefim w8

This sign represents ................
(A) e wwE fwe @
Railway Station nearby
(B) = Ied @HAR SHITE
Unguarded level crossing
(C) e wHR shifET
Guarded level crossing
(D) = 9§ w3 T

None of these.

Series-B (14)



37.

i
|

A
A

Series-B

T2 o w=fi| s g

This sign represents ...............
(A) e afsw ®
Parking is Prohibited
(B) =A@ wfEm €
Both sides Parking
(C) qfew wera =
Police Aid Post
(D) T ¥ wE T

None of these.

7% fog wffm @ &

This sign represents ................
(A) TrHed 98 we&
Slippery Road
(B) @rE saefEm =@l
No Overtaking
(C) 9% =1 feEm
Risk of Ice
(D) e e

Side winds.

9% fog wei¥@ & 2

This sign represents ................
(A) 9 AT HHq €
May turn to left
(B) &m S A a¢ HEAl GREE @
Compulsory go ahead or turn left
(C) =% R #gF ©
Side road left
(D) IW ge e 2
Compulsory turn right.

(15)

P.T.O.



40.

41.

42.

Series-B

T2 o w=fi| s g

This sign represents ................
(A) H=mw fuy
End of Restriction

(B) z=ftw =&
Do not stop

(C) =m®d @l FE A 2
No Parking

(D) vaw fuy )
No Entry.

77 fag w=eflg s@ 2

This sign represents ................
(A) =€ HgEHt R s
Right reverse bend
(B) = #gH fwe emi
Left reverse bend
(C) = Hfew 3 #Har =fen
Turn left and go ahead
(D) = H ®HF el

None of these.

78 Tog weffm w@m ¢
This sign represents ................

(A) & e WU R
Narrow road ahead

(B) @O TEE @
Dangerous dip

(C)
Ferry

(D) =99 ® & &I
None of these.

(16)




43.

44.

45.

Series-B

T2 o w=fi| s g

This sign represents ................
(A) =R wEY B R
Loose gravel
(B) T fegem ww 2
Slippery road
(C) #x =W & fag yaw fuy
No entry for Motor car
(D) =3 ® HE T

None of these.

This sign represents ................
(A) S T TEw

Hump or Rough road
(B) g1 Hel TN

Zigzag road
(C) = =

Ghat road
(D) T § FE T

None of these.

7g fog wfim s@ &

This sign represents ................
(A) wem H T @
Drainage in middle
(B) &@m qo @
Bridge ahead
(C) = & sFmwa @
Gap in median
(D) I9UE g+l
All of above.

(17)

P.T.O.



46. Te fog wefim s 2
This sign represents ................
(A) = @d wW ®
Children playing
(B) ot M X ® ¥
Men at work
(C) =& =t wifEm
Pedestrian Crossing
(D) T ¥ wEF T
None of these.
47. 7z fog wefim @ 8
This sign represents ................
(A) fommeft fasiy

Students prohibited
(B) w=Esl HEd

Pedestrians permitted

(C) w=aEh sy
Pedestrians prohibited
(D) i fsen

Parking prohibited.

48. Tt € ¥R & fou wH I § Ru 9@ 9@ & # w@fy @ wd 22
One time tax for a New Car for :
(A) 39 FR & Usd TR s a%
Till the registration of the vehicle is cancelled
(B) 15 aw & fag
15 years
(C) s ==f & feg
5 years
(D) 399 | T 7=l
None of these.

Series-B (18)




49, UREEA a6 W @EYY W i H FAad g §
Minimum age for obtaining Driving license for Transport vehicles :

(A) 25 =d
25 years
(B) 18 =
18 years
(C) 20 =
20 years
(D) 16 9H|
16 years.

50. foreht faoft amew 1 o/gAd A6R el <9 B g

The number of passengers permitted to be taken in a Private vehicle is recorded
in the :

(A) oSfFA gmm 93 o
Registration Certificate
(B) 39 = o
Tax Token
(C) wife
Permit
(D) =19 ¥ ¥ Tl
None of these.

51, frsft off e =1 9@ =ifem &9 9 wE:

Before starting the engine of a vehicle :

(A) Ifeder & 9N 1 WR T 99 & A K1 WL WE HL oF AIEg
Check Radiator water level and Engine oil level

(B) 3T @iz ® W= H wMew
Check head light

(C) 9% =+ =feu
Check brake

(D) 379 ¥ wE T
None of these.

Series-B (19) P.T.O.



52. BS-6 fowd wmfem 22
BS-6 is related with whom ?
(A) g5 &rHal
Engine capacity
(B) oifags @
Electric vehicle
(C) WgHUl W
Pollution standards
(D) wgum fE=|

Pollution control.

53. SETel a9 TR B 9 dug @2
Shaifali Verma associated with which Sport?
(A) &=
Hockey
(B) fwshe
Cricket
(C) frema arsit
Shooting
(D) =l
Wrestling.

54. TeTEE ge fow fen § fem @2
In which district Gadasaru Lake is situated ?
(A) =iTeT
Kangra
(B) wuet
Mandi
(C) ==
Chamba
(D) dierF|

Solan.

Series-B (20)




55. Find the correctly spelt word :

(A) Agressive

(B) Agrressive

(C) Aggressive

(D) Aggresive.

56. Find the correctly spelt word :

(A) Recruitment

(B) Recuitment

(C) Recrruitment

(D) Recruittment.

57. Choose the alternative which best expresses the meaning of the word

“DILIGENT” :

(A) Hardworking

(B) Proud

(C) Weak

(D) Great.

Series-B (21) P.T. O.



58. Choose the alternative which best expresses the opposite of the meaning of word

“PERFECT” :

(A) Defect

(B) Complete

(C) Imperfect

(D) Ugly.

59. Someone has ............... my bag.

(A) move

(B) moves

(C) moving

(D) moved.

60. I always ......ccueeeee. before bed.

(A) read

(B) to read

(C) reading

(D) reads.

Series-B (22)



61. Find the correct answer : “Rolling stone ..........ccccoeveeveeeens

(A) Gathers no moss

(B) Always shines

(C) Always falls

(D) Gathers no speed.

62. ‘Raj is an excellent driver’. Find the ‘adjective’ in the sentence :

(A) Raj

(B) 1s

(C) driver

(D) excellent.

63. T@ w1 foom W= = @7

(A) s

(B) faqm

(C) g

(D) srfgmEn

Series-B (23) P.T. O.



64. HifEer w1 foeim v @ €2
(A) fafem
(B) =fua
(C) ufed

(D) aferfamq

3F v & U U v SaEul

65. S WEd wHW A g B

(A) FE9d

(B) #Asaqd
(C) =rqd

(D) sgu=

66. S WEA o HLAl @l

(A) =ferR
(B) =gd
(C) ==ta
(D) ==l

Series-B (24)




67. PR H SgAE @

(A) R

(B) =praxan

(C) ==

(D) 79 | &HIE sl

68. IS VR H WA HITWC;

(A) Fr=mu

(B) a9

(C) eT=wM

(D) =TT

69. Y[E W& H FI9 FHifeIQ:

(A) ToTm

(B) =it

(C) Tfrm

(D) =

Series-B (25) P.T. O.



70. Y& Y& HT HIA IS

(A) Far=st
(B) wara=r
(C) vrarfss

(D) vrar=Rl

71. HEA I STEYH WM wel fem @2
Where is the Central Potato Research Institute situated?
(A) =HIT=1
Kangra
(B) #Ei
Mandi
(C) fermen
Shimla
(D) @i |

Solan.

72. femrael B9 & YUH TGS SH 97

Who was the first Governor of Himachal Pradesh?
(A) FyEd e TR
Yashwant Singh Parmar
(B) 3t ™ faE
Thakur Ram Singh
(C) wd. ket
S. Chakravarti
(D) =99 o *iE T

None of the above.

Series-B (26)




73. WEH M Ugel IR fYHen wa ou o2
When did Mahatama Gandhi visit Shimla for the first time?

(A) 1921

(B) 1923

(C) 1925

(D) 1927.

74. Ued % TR TN ThA H o9 FHI U 5579 HiE B A@ W fFedHr § fawe
22
The distance between Rohan’s house and School is 5579 m. What is the distance
in kilometers?

(A) 55.79

(B) 5.579

(C) 557.9

(D) 5.5790.

75. 10 3R 20 & &= H fEad fouwm wend #2

How many odd numbers are there between 10 and 20 ?

(A) 4

(B) 5

(C) 6

(D) 9.

Series-B (27) P.T. O.



76. YA SelfeR[ g el W T 82
Where the Shanan Hydel Power Project is located ?
(A) Sifilg TR
Joginder Nagar
(B) ==
Chamba

(C) a9
Rampur

(D) fasax)
Kibbar.

77. w9 fRdl @@ T 1 q fE s %, q ouftomy o g
When a number is multiplied by 1, the result will be :

(A) Same as the number
(B) 1

(C) 0

(D) 2.

78. o Hemed 9, 15 R 21 & oefed 2|

The average of three numbers 9, 15 and 21 is :

(A) 9
(B) 21
(C) 15
(D) 5.

Series-B (28)




79. @fs < Wemst w1 ofEd 33 ® @R T wew 44 @, q el e
B
If the average of two numbers is 33 and one of the numbers is 44, then the other
number will be :

(A) 22

(B) 77

(C) 11

(D) 0.

80. Tl wenm o oIl oW wEfHAl 1 IAUW S : 4 ©1 A FEW H 60 wstwAl @,
@ wen A fRed oigw &2
The ratio of boys and girls in a class is 5 : 4. If there are 60 girls in the class, then
how many boys are there in the class ?

(A) 65

(B) 50

(C) 75

(D) 60.

81. i 4m fead ®a TR0 S 87
When the International Day of Yoga is celebrated ?

(A) 5th December

(B) 14th November

(C) 2nd October

(D) 21st June.

Series-B (29) P.T.O.



82. HHAd <hl Yaddl ‘Iqr'ﬂ S Gh\H q17
Who was the first Governor General of India ?
(A) srA efierw
Warren Hastings
(B) faferm afem
William Bentinck
(0) =fm
Canning
(D) 37" ¥ *rE 7

None of these.

83. ‘‘fempell o few’’ Uy & o@E HH 9?2
Who wrote the book “Discovery of India” ?
(A) 5T T
Mahatma Gandhi
(B) wresht Fard
Morarji Desai
(C) wemet e A8
Jawahar Lal Nehru
(D) 39 9 g
None of these.

84. I |AS W T fREA w1 efi?
Who was the founder of Arya Samaj ?
(A) Tt =g HEEEt
Swami Dayanand Saraswati
(B) @t fasg=wm=
Swami Vivekanand
(C) TS [HHEA T
Raja Rammohan Roy
(D) 3@ == €A
Keshab Chandra Sen.

Series-B (30)




85. ‘T AU wfgg fyer € SR # W wew wm'' feed wwoen

Who spoke the words “Swaraj is my birthright and I shall have it” ?
(A) =Rfagt =y

Aurobindo Ghosh

(B) =it.d1. T
B.C. Pal

(C) a1 R e
Bal Gangadhar Tilak

(D) HeTedT T

Mahatma Gandhi.

ﬁm@% g.@,.gk;
L v (111 ) g
L8 ML)

Series-B (31) P.T.O.
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1. Saisa 9w feaw w9 wEEn S 87
When the International Day of Yoga is celebrated ?

(A) 5th December

(B) 14th November

(C) 2nd October

(D) 21st June.

2. YR H Ugen TER S hid 91?

Who was the first Governor General of India ?

(A) aa efterg

Warren Hastings

(B) faferm =few
William Bentinck

(C) =

Canning

(D) 379 9 wE A1

None of these.

3. “‘fempall e gfewr’’ yxie % @ s 9?
Who wrote the book “Discovery of India” ?

(A) werem e
Mahatma Gandhi

(B) HIUTSt <9

Morarji Desai

(C) JEET @ ew
Jawahar Lal Nehru

(D) =79 9 = &0

None of these.

Series-C (3) P.T. O.



4.

6.

I WA i A feed @ oo
Who was the founder of Arya Samaj ?
(A) wTHT TaHE HEE]

Swami Dayanand Saraswati
(B) Tt faaem=

Swami Vivekanand
(C) U= TwHET TF

Raja Rammohan Roy
(D) ®yE =5 A

Keshab Chandra Sen.

‘TS T WfEg AfueR € SR H 3@ wem wm R wer oem?

Who spoke the words “Swaraj is my birthright and I shall have it” ?

(A) =Tfa=r =y
Aurobindo Ghosh
(B) &4 9
B.C. Pal
(C) = Wi faeres
Bal Gangadhar Tilak
(D) HE&TcHT e |
Mahatma Gandhi.

fot @=a &1 WM F A % faw fFEosm @2
Richter scale is used for measuring :
(A) 59 T A
Density of Liquid
(B) TEHl ® TEwE
Depth of Mines
(C) g™ I e
Intensity of an Earthquake
(D) 379 ¥ = =N
None of these.

Series-C (4)




7.

9.

HHal 3G HI TSI B
The Capital of Saudi Arabia is :
(A) "eaH
Melbourne
(B) Im
Rome
(C) ufm
Paris
(D) T
Riyadh.

@ W W owE @ ad frd 22
Which river empties itself into the Arabian Sea ?
(A) ==
Narmada
(B) weTal
Mahanadi
(C) pem
Krishna
(D) e

Cauvery.

‘g Heean'! Tme Scd fEE wE ¥ w1 S @2
In which State “Hola Mohalla” festival is celebrated ?
(A) &T&

Kerela
(B) dfHerrg

Tamil Nadu
(C) 9sma

Punjab
(D) 2199

Assam.

Series-C (5)

P.T.O.



10. gegws wt fgfe e @
The Chief Minister is appointed by :
(A) T BT
Governor
(B) wegmfa gr1
President
(C) A &% H&I =AEHy g’
Chief Justice of India
(D) =78 | &K

None of these.

HWWHA—W#WW ———————————————— — F @ ST S
An application for the renewal of Driving License shall be made in :

(A) wd 9

Form 9
(B) wH 8
Form 8

(C) w19 7

Form 7

(D) ®E 6.

Form 6.

12. — F TEF UERT aEd Il UBEE H S Wl Bl

A transport vehicle can be identified by looking at the :
(A) 9T & =T
Tyres of the Vehicle

(B) AT &% TER UL
Number Plate of the Vehicle

(C) ared & I
Colour of the Vehicle

(D) 989 & HATHN|
Size of the Vehicle.

Series-C (6)




13. HWiEX 9'd & Y &% faw oemEed ¥ fe s =nfew
An application for registration of a motor vehicle shall be made in :
(A) ®H 20

Form 20

(B) wid 29
Form 29

(C) wid 25
Form 25

(D) ®id 26.
Form 26.

14. CNG = T &9 &:
CNG stands for :
(A) Tr=1 igfas 9
Common Natural Gas
(B) Hiifga wigfas i
Compressed Natural Gas
(C) w1 wipfaw i
Carbon Natural Gas
(D) ¥fq grfas T
Cold Natural Gas.

15. TS =W gAY AfE suew! el R sfa § ewad € ol 39 =ie o St 2, ° SR
While driving if your vehicle hits a person and person gets injured, you should :
(A) afg &rE TEE T 8 @ Wed e ¥ w9 fAwen =few
Escape from the scene if there are no witnesses
(B) @ =afeq &1 Tafeedn & & fau &8\ e =y
Take steps to ensure medical attention to the injured
(C) W T &1 BEHt Aokl Yfag wym w U w2 o=
Leave the scene and report to nearest Police station
(D) wmEfeEmifes w1 gfed & 31 =ifeq X 9% "g=4 9%
yotar FwEA A

Inform Office/Owner and wait at the scene for them to arrive.

Series-C (7) P.T. O.



16. o AW W ME waW & fou =Eem fafuw o e @ @2

What is the Legal Minimum Insurance cover you must have to drive a vehicle on
Public roads ?

(A) aaferer =2 o1 |
Personal Injury Cover

(B) pof &1 | =a19%

Fully Comprehensive
(C) gefta TemhR, oM AR =
Third party, fire and theft
(D) ®aa A gHFER
Third Party only.

17. TEEY W UEe WM @ AUER e 82
Who has the right of way in the hills ?
(A) $aw€ o S areft mEd
The Vehicle going downhill
(B) uftfearfy w e e 2
Depends upon the situation
(C) 98T W W arell el
The vehicle going uphill
(D) sy 9l =8|

The heavier vehicle.

18. 23456 X 45678 T AT =

The sum of 23456 and 45678 is :

(A) 69134

(B) 69132

(C) 79314

(D) 68314.

Series-C (8)



19. afz X = 98765 R Y = 56789 %, @ X-Y ®:
If X = 98765 and Y = 56789, then X-Y is :

(A) 41986

(B) 42976

(C) 41966

(D) 41976.

20 afc P=1234 3R Q=11 2, @ Px Q =0 &7
If P= 1234 and Q = 11, then P x Q equals :

(A) 12340

(B) 13474

(C) 13574

(D) 14574.

21. 3 *E @eT 15 FRd/cfie ot dia @ <@ €, 9 105 fEH. = @ 9@ FE
% fou sTevas $6A w1 ufomm @ e
If a vehicle gives a mileage of 15 kms/ltr., the quantity of fuel required to cover
a distance of 105 kms is :

(A) 6 @I
6 ltrs.

(B) 15 wrex
15 ltrs.

(C) 5 witex
5 ltrs.

(D) 7 @tex
7 ltrs.

Series-C (9) P.T. O.



22. 50 W 50% F B?
What is 50% of 50 ?

(A) 50
(B) 25
(C) 250

(D) 100.

23. 100 ® 4000 1 25% WSl SMW, @ wRomw ot
When 100 is added to 25% of 4000, then the result will be :

(A) 1100
(B) 1000
(C) 900

(D) 2100.

24. NG H TOW el A& ®H H 2
Which is the longest river of India ?
(A) Treredt
Gadavari
(B)
Ganga
(C) =g

Yamuna
(D) =rEt

Cauvery.

Series-C (10)




26.

27.

Major Dhyan Chand was a legendary :
(A) Feara feeret
Football Player
(B) @f#t feemet
Hockey Player
(C) Twme faarst
Cricket Player
(D) waezl fEeren
Kabaddi Player.

g H fRE 9 1 w9 o qeer @2
Which State in India has got the longest Coast line ?

(A) HERT
Maharashtra
(B) &
Kerala
(C) T=a
Gujarat
(D) @gy=Il
Andhra Pradesh.

feem WW ® TR gErEHt $H 9
Who was the First Chief Minister of Himachal Pradesh ?
(A) =g Tae
Vidbhadra Singh
(B) IR TH T
Thakur Ram Lal
(C) =v=Erd 48 TR
Yashwant Singh Parmar
(D) ¥l AN

Shanta Kumar.

Series-C (11)

P.T.O.



28. WAEHl I gg He gAT A7
When did the Battle of Plassey take place ?
(A) 1857 %
1857 A.D.
(B) 1757 =.
1757 A.D.
(C) 1764 3.
1764 A.D.
(D) 1858 2.
1858 A.D.

29. det =gl 4 frw @@ d§ w@ul 4gw Sfar?

In which game Neeraj Chopra won Gold medal ?
(A) fe=rg ot

Discus Throw

(B) iarsi
Archery
(C) «ren %

Javelin Throw
(D) sefiz

Badminton.

30. feureet # dwEw # wew wewn fea @2
How many Lok Sabha Seats does Himachal has?

(A) 3
(B) 5
(C) 7

(D) 4.

Series-C (12)




31.

Hgare se fpw foe o fem 22

In which District the Chandratal Lake is situated ?

(A) =i
Kinnour

(B) fawr
Sirmour

(C) ==
Chamba

(D) =eter feafa
Lahaul Spiti.

32, W fg § wafud 272

To whom FASTag is related ?
(A) 3. 2@ THAH
E-toll aggregation
(B) Ti.Ta.sTE. (NHAI)
NHAI
(C) (A) iR (B) =M
Both (A) and (B)
(D) =78 ¥ &g T

None of these.

33, WAl I 1 Gfge AW F e

What is the Vedic name of river Ravi ?
(A) foarer
Vipasha
(B) =rferat
Kalindi
(C) wqst
Satudri
(D) g&fs0

Parusni.

Series-C (13)
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34.

35.

36.

Series-C

frefefea aa@e Sha (ae " Y@ oK o 92dl)
gfea & 2?2

The following Traffic sign (with Red Border and Red Band)
indicates :

(A)  wEw Tfug
No entry
(B) fgurit w=a
Two Ways Sign
(C) =& #e &

No right turn
(D) TUH TH Hehdl
One way sign.

77 fag weffm s g o

This sign represents ................
(A) @ T SR WEF T
Roads on both sides in front
(B) oW wHU q@
Narrow Bridge Ahead
(C) = U= THU 7 —
Narrow Road Ahead
(D) Yfday FATE|

Restrictions ends.

This sign represents ...............

(A) wigfts IR &S
First Aid Post

(B) #RM & H B
Resting Place

(C)  #1&udara
Hospital

(D) T § ®E T

None of these.

(14)



37. 7e fog weft| s 2

This sign represents ...............

(A) =R
Cross Road
(B) vwaw oy 2
No Entry
(C)  ogare
Hospital
(D) @efw
Stop.
38. ug fag weffa & &

This sign represents ...............

(A) 50 fw#t/Ewer w fa d@@ A oaEd =ent
Drive the vehicle not exceeding 50 km/hr.

(B) 50 fe#t/=mer w1 wfa | Ay a@d =g
Drive the vehicle at more 50 km/hr.

(C) waa 50 fwH./=ve = 1fd 9 & 9ed S
Drive the vehicle only at the speed of 50
km/hr.

(D) T ° w1 T

None of these.

3. T fom R w@ F
@ This sign represents ...............
(A) ®ad 3.5 Wi ¥ Afus S=E 9 g ® fou yEwm

Entry only for vehicles with height above 3.5

meters
(B) 3.5 WX ¥ fys =g 9 aedl & fau gew
Entry only for vehicles with width above 3.5

meters
(C) UH e & fau vaw f5ast 398 3.5 9@ 9 Ay 9 &
Entry for vehicles having height not exceeding

3.5 meters
(D) TIH 9 g Tl
None of these.

Series-C (15) P.T.O.



7% fog wefi| w@ 8
This sign represents ................
(A) =% HR ®H
Stop on the left side
(B) @ AR HoM SR
Compulsory keep left
(€) = ¥g
Turn left
(D) = WH T

40. a
4l. 7% fog weffm s 7
This sign represents ................
(A) oE w®yA fae @
Railway Station nearby
(B) wr@a ifed wHAR ifE

Unguarded level crossing
(C) e woIR wifdm

Guarded level crossing
(D) 9 | HEF T

None of these.

42. 7% o wefim s 7 o
E This sign represents ................
(A) Wi afsm @
Parking is Prohibited
i

Stop on the right side.

(B) =l @ wiem @
Both sides Parking

(C) Yfew Tema =t
Police Aid Post

(D) = " w5 e

None of these.

Series-C (16)




43.

44.

45.

Series-C

Tg o wfi| s g

This sign represents ................
(A) Trges 98 9%
Slippery Road
(B) =g stiawfen e
No Overtaking
(C) d% @ e
Risk of Ice
(D) WE gEd

Side winds.

This sign represents ................
(A) @ Hg wHA
May turn to left
(B) M W A a¢ {EAl @R 8
Compulsory go ahead or turn left
(C) = X g @
Side road left
(D) =@ gegT wfErE 2
Compulsory turn right.

7e fog wefim s &

This sign represents ................
(A) dgmw frw
End of Restriction

(B) sEftw &
Do not stop

(C) d@red @gl &L T 2
No Parking

(D) vaw faey )
No Entry.

(17)

P.T.O.



46. 7w fog el s 2

This sign represents ................

(A) W gEF fF am
Right reverse bend

(B) ¢ Hgat fww e
Left reverse bend

(C) =m gfegw 3 Hw =feg
Turn left and go ahead

(D) =3 ® HE T

None of these.

47 T o wefim w s

This sign represents ................
(A) oW TE WHEU B
Narrow road ahead
(B) @@ TEEl @
Dangerous dip
(C) e
Ferry
(D) T § HE Tl
None of these.

78 Tog weffm w@m ¢

This sign represents ................
(A) = et g @
Loose gravel
(B) UEn frgem
Slippery road
(C) wX &W & fau gew fuy
No entry for Motor car
(D) =T 4@ w1 T
None of these.
Series-C (18)

48.




49.

50.

51.

Series-C

Tg o wfi| s g

This sign represents ................
(A) % A wew

Hump or Rough road
(B) 2@ Hel =

Zigzag road
(C) ®=me T

Ghat road
(D) T H & TR

None of these.

7 o weffm & &

This sign represents ...............
(A) @=g H Al 2
Drainage in middle
(B) @m 4=
Bridge ahead
(C) = ¥ siwa 2
Gap in median
(D) 390w =l
All of above.

This sign represents ................

(A) = g ® F
Children playing

(B) o=t &M # W F
Men at work

(C) =@ Ant wIram
Pedestrian Crossing

(D) ™ ° H1E &I

None of these.

(19)

P.T.O.



52. 7w fog el s 2

This sign represents ................
(A) foemeff froe

Students prohibited
(B) 9EEEl erHd

Pedestrians permitted

(C) vt ey
Pedestrians prohibited
(D) wifeen e

Parking prohibited.

53. Tt 96 R & fou w 9@ § U 9@ S %  eEfy g Bl 82
One time tax for a New Car for :
(A) 39 R & YsE fRw 39 &%
Till the registration of the vehicle is cancelled
(B) 15 7wl & fag
15 years
(C) 5 a1 & fau
5 years
(D) 37 ¥ FE T

None of these.

54. UfEEd 9@ W ARYd Wd &l Wi =[AqH 31 g
Minimum age for obtaining Driving license for Transport vehicles :

(A) 25 99
25 years
(B) 18 =d
18 years
(C) 20 =
20 years
(D) 16 =)
16 years.

Series-C (20)




55. Tt foslt =mes &1 ergma Ol emar <6 el 2

The number of passengers permitted to be taken in a Private vehicle is recorded
in the :

(A) dsfa gmmor 9F o
Registration Certificate
(B) 299 %A o
Tax Token
(C) wtfe #
Permit
(D) 319 9 g
None of these.

56. frdt <t T =1 dS9 wfem W E:

Before starting the engine of a vehicle :

(A) Heder & ot & W U TS H qd kW SE R @A A@N6C
Check Radiator water level and Engine oil level

(B) 35 wmEe &1 W9 HET AT
Check head light

(C) 3% <=4 =mfeg
Check brake

(D) 378 | HE T

None of these.

57. BS-6 fweg wmfum 22
BS-6 is related with whom ?
(A) $oF e
Engine capacity
(B) seifags =
Electric vehicle
(C) 99U H s
Pollution standards
(D) gguor |

Pollution control.

Series-C (21) P.T.O.



58. Vet oAl fFE ©a 9 gag @2
Shaifali Verma associated with which Sport?
(A) =TT
Hockey
(B) ez
Cricket
(C) frem =rsht
Shooting
(D) BTl
Wrestling.

50. Temw e few foen § fem 22
In which district Gadasaru Lake is situated ?
(A) 1T
Kangra
(B) =gl
Mandi
(C) ==
Chamba
(D) wrerF|

Solan.
60. Find the correctly spelt word :
(A) Agressive
(B) Agrressive
(C) Aggressive
(D) Aggresive.

Series-C (22)




61. Find the correctly spelt word :

(A) Recruitment

(B) Recuitment

(C) Recrruitment

(D) Recruittment.

62. Choose the alternative which best expresses the meaning of the word

“DILIGENT” :

(A) Hardworking

(B) Proud

(C) Weak

(D) Great.

63. Choose the alternative which best expresses the opposite of the meaning of word

“PERFECT” :

(A) Defect

(B) Complete

(C) Imperfect

(D) Ugly.

Series-C (23) P.T.O.



64.

65.

66.

Someone has ............... my bag.

(A) move

(B) moves

(C) moving

(D) moved.

I always ...cocoeeeeee. before bed.

(B) to read

(C) reading

(D) reads.

Find the correct answer :

(A) Gathers no moss

(B) Always shines

(C) Always falls

(D) Gathers no speed.

Series-C

“Rolling stone

(24)

---------------------------




67. ‘Raj is an excellent driver’. Find the ‘adjective’ in the sentence :

(A) Raj

(B) is

(C) driver

(D) excellent.

68. W@ W faeim Y= wOE?

(A) 9=

(B) Taq@

(C) wq@

(D) AfysE

69. Hifes w1 fadm v F= 8?2

(A) Tafed

(B) &fya

(C) ufea

(D) afefeEm|

Series-C (25) P.T.O.



M vl @ fog U v sEEw
70. S UES @+ A g Bl

(A) 7994

(B) &Avaqd
(C) sqd

(D) 7=
71. S 984 & HL Bl
(A) =fer
(B) wigd
(C) ==r=
(D) ar=mE|
72. HER H GgIIA e
(A) F
(B) &
(C) =y
(D) T 9 g =

Series-C (26)




73. Y& W& HT UIA ST

(A) A=Iwo

(B) aTaeor

(C) =F=yH

(D) sT=rerom)

74. Y& VL H WEAT HIfGC:

(A) feaar

(B) =fdr

(C) fefrm

(D)

75. Y TR FH TIA HIWC:

(A) Gar=s)

(B) warest

(C) vrarfss

(D) vmamERT

Series-C (27) P.T.O.



76. HEA G FIHYH HEIH el foag @72
Where is the Central Potato Research Institute situated?
(A) =TT
Kangra
(B) #wel
Mandi
(C) fermem
Shimla
(D) drem|

Solan.

77. feHrEe WBW & YUYW TGS SH 97
Who was the first Governor of Himachal Pradesh?

(A) e e TR
Yashwant Singh Parmar
(B) st ww fag
Thakur Ram Singh
(C) wd. =rehadt
S. Chakravarti
(D) 319 9§ g

None of the above.

78. WET Ml Ugel IR fyHen w9 oMU 9?
When did Mahatama Gandhi visit Shimla for the first time?

(A) 1921
(B) 1923
(C) 1925

(D) 1927.

Series-C (28)




79. Ted & W A1 el & od &1 T 5579 WX 21 Te U fwerdier ® fha
22
The distance between Rohan’s house and School is 5579 m. What is the distance
in kilometers?

(A) 55.79

(B) 5.579

(C) 557.9

(D) 5.5790.

80. 10 3 20 & &= o fean fowm wed 272

How many odd numbers are there between 10 and 20 ?

(A) 4

(B) 5

(C) 6

(D) 9.

81. WA Scifer[ RS wel W frem €2
Where the Shanan Hydel Power Project is located ?

(A) Siiffrg TR
Joginder Nagar

(B) ==
Chamba

(C) T
Rampur

(D) T
Kibbar.

Series-C (29) P.T.O.



82. & forelt "em w1 A | ¥ fFw oW ®, @ 9o o 2

When a number is multiplied by 1, the result will be :

(A) Same as the number

(B) 1

(C) 0

(D) 2.

83. WM HEe 9, 15 AR 21 WH AEA T B

The average of three numbers 9, 15 and 21 is :

(A) 9

(B) 21

(C) 15

(D) 5.

84. If% < Teme w1 ofEd 33 B N UF WEA 44 ®, A WG wem
BT
If the average of two numbers is 33 and one of the numbers is 44, then the other
number will be :

(A) 22

(B) 77

(C) 11

(D) 0.

Series-C (30)



g5. Torell e § wighi i wefRal o1 ITE 5 : 4 B AR wEm W 60 wsfwAl @,
a wen o fead dee €2
The ratio of boys and girls in a class is 5 : 4. If there are 60 girls in the class, then
how many boys are there in the class ?

(A) 65

(B) 50

(C) 75

(D) 60.

éél@ﬂ; :%‘@"‘;L:‘;
g r 5 De .j\‘ g

Series-C (31) P.T. O.
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. S Solfos@ afEsH wel W feem 82
Where the Shanan Hydel Power Project is located ?
(A) wiffig TR

Joginder Nagar

(B) =w=

Chamba

(C) THYX

Rampur

(D) fasax)
Kibbar.

2. 9o fRel "enm w1 PE 1 " fEE S T, 4 ufitomg - 2hm
When a number is multiplied by 1, the result will be :

(A) Same as the number

(B) 1

(C) 0

(D) 2.

3. oW mEmet 9, 15 SR 21 & oftmw 2l

The average of three numbers 9, 15 and 21 is :

(A) 9

(B) 21

(C) 15

(D) 5.

Series-D (3) P.T. O.



4. afz @ demet w1 ofwd 33§ ot uw wem 44 @, A @ wen
B

If the average of two numbers is 33 and one of the numbers is 44, then the other
number will be :

(A) 22

(B) 77

(C) 11

(D) 0.

5. el wen & el 3R el # UM 5 : 4 ¥ A wE W 60 wsfHAl @,
@ wear § fRed T=w 22
The ratio of boys and girls in a class is 5 : 4. If there are 60 girls in the class, then
how many boys are there in the class ?

(A) 65

(B) 50

(C) 75

(D) 60.

6. Faim 4w feam wa wEET S g2
When the International Day of Yoga is celebrated ?

(A) 5th December

(B) 14th November

(C) 2nd October

(D) 21st June.

Series-D (4)



7.

Series-D (

3
HAId <hl Yadl ‘Iqr'ﬂ S ShiH 917

Who was the first Governor General of India ?

(A) srA efierw
Warren Hastings
(B) faferm afem
William Bentinck
(C) =fm
Canning
(D) 319 9 HE

None of these.

“feerall Afw few” TEe ® o@E ®iA 9?
Who wrote the book “Discovery of India” ?

(A) TeTHr e
Mahatma Gandhi
(B) WISt 3wrd

Morarji Desai
(C) wemet e A8
Jawahar Lal Nehru
(D) 39 9 g
None of these.

FE WS H A IR T efi?
Who was the founder of Arya Samaj ?
(A) Tt =g HEEEt

Swami Dayanand Saraswati
(B) @t fasg=wm=

Swami Vivekanand
(C) TS [HHEA T

Raja Rammohan Roy
(D) 3@ == €A

Keshab Chandra Sen.

7]
S

P.T.O.



10. “'TEe WU Sfgs eifueR @ S H 3@ o wm' faed wer en
Who spoke the words “Swaraj is my birthright and I shall have it” ?
(A) srfas =

Aurobindo Ghosh
(B) @€l T

B.C. Pal
(C) @ R faas

Bal Gangadhar Tilak
(D) weTemn |

Mahatma Gandhi.

1. fo =a =1 s &1 T & fow fma smr @2
Richter scale is used for measuring :
(A) 5@ w1 =T
Density of Liquid
(B) @EMAl w1 T
Depth of Mines
(C) g™ =i draa
Intensity of an Earthquake
(D) T ¥ FHiE T

None of these.

12. G IS HI TEAH 2
The Capital of Saudi Arabia is :
(A) HeEr
Melbourne
(B) U=
Rome
(C) dufm
Paris
(D) Tem|
Riyadh.

Series-D (6)




13. 3FE @R § &F O A R 82

Which river empties itself into the Arabian Sea ?

(A) =1
Narmada
(B) HeTEl
Mahanadi
(C) &wm
Krishna
(D) =wrE

Cauvery.

14. “‘gron HEee’’ 9ve Iod 9 TS W AT Wil @2
In which State “Hola Mohalla” festival is celebrated ?

(A) &

Kerela

(B) dfaerrg
Tamil Nadu

(C) 95"
Punjab
(D) #18m

Assam.

15. gt =+t ffe en @

The Chief Minister is appointed by :

(A) TsF9Td g
Governor
(B) wszufa &M
President
(C) 9@ &% H& —=EHw gW
Chief Justice of India
(D) 59 § g &

None of these.

Series-D

(7)

P.T.O.



16. = TAM & Teiw & foau AeEEd H fa s @

An application for the renewal of Driving License shall be made in :

(A) ®H 9

Form 9

(B) wiH 8

Form 8

(C) wH 7

Form 7

(D) wE 6.

Form 6.

19, —————— F SEF UEET GRA H UEEH &1 S GHd 2
A transport vehicle can be identified by looking at the :

(A) aEd & TW
Tyres of the Vehicle

(B) 9med % W@ UL
Number Plate of the Vehicle

(C) ared & I
Colour of the Vehicle

(D) 9"+ AFR
Size of the Vehicle.

18, WX T ® UehEeRw @ few emEs & fer e
An application for registration of a motor vehicle shall be made in :
(A) wTH 20
Form 20
(B) wH 29
Form 29
(C) wd 25
Form 25
(D) ®H 26.
Form 26.

Series-D (8)




19. CNG = T &9 :
CNG stands for :
(A) 9M= WiEfas TH

Common Natural Gas
(B) wifga yrfaw 7=

Compressed Natural Gas
(C) e uiHfasw i

Carbon Natural Gas
(D) ¥ wpfas 41

Cold Natural Gas.

20. TME! TR TG A% vt e Rt sfa 9 Tt @ oK 39 |ie o Wit €, d Sl

While driving if your vehicle hits a person and person gets injured, you should :

(A) afe =3 TEE T B A ued W 4 =™ e =ifsT
Escape from the scene if there are no witnesses
(B) soel Ao &1 fafeew &3 & fau +s9 semn =ifeq
Take steps to ensure medical attention to the injured
(C) ¥ T & BiegHl Torl ffad ©yA W fOR & & =fey
Leave the scene and report to nearest Police station
(D) wEieE/mfes & gfaa &1 39 =@ied 2R S9% " a%
gdian & =feu)

Inform Office/Owner and wait at the scene for them to arrive.

21, @i W W ME T@ & fau e fafyw s o s @

What is the Legal Minimum Insurance cover you must have to drive a vehicle on

Public roads ?
(A) Safes =ie Teor =
Personal Injury Cover
(B) Qv ®9 ® =AM
Fully Comprehensive
(C) gata werm, s W =
Third party, fire and theft
(D) ®aa JaArd YTHR
Third Party only.

Series-D (9)

P.T.O.



22. TRl W YR WM SAUHR e 272
Who has the right of way in the hills ?

(A) FoUE H SR aret mEd

The Vehicle going downhill
(B) wftfearfa m fasdft @war 2

Depends upon the situation
(C) ¥@lE W FH dre el

The vehicle going uphill
(D) sifysr 9t =rE|

The heavier vehicle.

23. 23456 S 45678 H AN B:
The sum of 23456 and 45678 1is :

(A) 69134
(B) 69132
(C) 79314
(D) 68314.

24. At X = 98765 2R Y = 56789 ¥, @ X-Y %:
If X = 98765 and Y = 56789, then X-Y is:

(A) 41986
(B) 42976
(C) 41966

(D) 41976.

Series-D (10)




25. AfF P=1234 & Q=11 &, @ P x Q =0 27
If P=1234 and Q = 11, then P x Q equals :

(A) 12340

(B) 13474

(C) 13574

(D) 14574.

26. A & @A 15 FEA/cfR =t dia i @ €, a 105 TR w @ @@ w
% fou emavas oA w1 ufom Fm @2
If a vehicle gives a mileage of 15 kms/ltr., the quantity of fuel required to cover
a distance of 105 kms is :

(A) 6 @it
6 ltrs.

(B) 15 @X
15 ltrs.

(C) 5 @
5 ltrs.

(D) 7 @it
7 ltrs.

27. 50 @ 50% T B?
What is 50% of 50 ?

(A) 50

(B) 25

(C) 250

(D) 100.

Series-D (11) P.T.O.



28. 100 § 4000 1 25% Sl WU, @ whomy -
When 100 is added to 25% of 4000, then the result will be :

(A) 1100
(B) 1000
(C) 900

(D) 2100.

29. NG K TAH el A wE A 2?
Which is the longest river of India ?
(A) et
Gadavari
(B) Tm
Ganga
(C) =

Yamuna
(D) wHrEt

Cauvery.

30. HSK &AM =@ g9 &)
Major Dhyan Chand was a legendary :
(A) Feara faerst
Football Player
(B) et faemst
Hockey Player
(C) Tz faemst
Cricket Player
(D) wage! faaret
Kabaddi Player.

Series-D (12)




31.

32.

33.

gRd ° fFE TE & ged ol dewEn @2
Which State in India has got the longest Coast line ?
(A) HENTg
Maharashtra
(B) =&
Kerala
(C) =
Gujarat
(D) &IU=II
Andhra Pradesh.

fenrmm WY & T gEAEd w92
Who was the First Chief Minister of Himachal Pradesh ?
(A) =g fae
Vidbhadra Singh
(B) SRt TH oo
Thakur Ram Lal
(C) #vEd T8 wER

Yashwant Singh Parmar
(D) ¥mar /A

Shanta Kumar.

I H gE ke gIM A7
When did the Battle of Plassey take place ?
(A) 1857 E.
1857 A.D.
(B) 1757 =.
1757 A.D.
(C) 1764 3.
1764 A.D.
(D) 1858 %.
1858 A.D.

Series-D (13)

P.T.O.



34, IS @mer 7 fFY B ¥ @l ugs Sidr?

In which game Neeraj Chopra won Gold medal ?
(A) fewrE o1
Discus Throw
(B) dfi<arsit
Archery
(C) s ek
Javelin Throw

(D) srefifea

Badminton.

35. feume o wwgW &1 WS Hew fedr @2
How many Lok Sabha Seats does Himachal has?

(A) 3
(B) 5
(C) 7

(D) 4.

36, Fza e feg o W feem @2

In which District the Chandratal Lake is situated ?
(A) fF=ir
Kinnour
(B) fawr
Sirmour
(C) =¥
Chamba
(D) @mere feafa
Lahaul Spiti.

Series-D (14)




37. BTN Y 9 gatug 27
To whom FASTag is related ?
(A) 3. (A THIATHI

E-toll aggregation

(B) Ta.T=.T3E. (NHAID)
NHAI

(C) (A) &t (B) =+
Both (A) and (B)
(D) 379 | &g =&

None of these.

38. WA T H afw AW F g2

What is the Vedic name of river Ravi ?

(A) faurer
Vipasha
(B) =rferst
Kalindi
(C) gzl
Satudri
(D) w&fom
Parusni.
39. fretfafaa o dhd (ore g Y@ @R oe gedl)
gfed w22
The following Traffic sign (with Red Border and Red Band)
indicates :
(A) wew fAfrs
No entry
(B) fegarff w=a

Two Ways Sign
(C) = wg &

No right turn
(D) TFH TR Hehdl

One way sign.

Series-D (15) P.T.O.



40.

41.

42.

Series-D

This sign represents ................
(A) om TEl o "ew ®
Roads on both sides in front
(B) o w0 A
Narrow Bridge Ahead
(C) &m & a2
Narrow Road Ahead
(D) ufaey HET=|

Restrictions ends.

This sign represents ...............

(A)  YiafH® ITER H=
First Aid Post

(B) WM HE H SME
Resting Place

(C) TEvam
Hospital

(D) =H ¥ FE T

None of these.

This sign represents ...............
(A)  =WE

Cross Road
(B) vaw faow %

No Entry
(C) &g

Hospital
(D) ==fwl

Stop.

(16)




43.

44.

45.

Series-D

7% fog weffm & 8

This sign represents ...............

(A) 50 fwdt/Ewer w1 nfa @@ A SR e
Drive the vehicle not exceeding 50 km/hr.

(B) 50 fedi/mvwer =t ufg 9 ofgs aeq =
Drive the vehicle at more 50 km/hr.

(C) @@ 50 fwHAt/aver &t wfa & & @A =@
Drive the vehicle only at the speed of 50
km/hr.

(D) 3™ 9§ ®rE T

None of these.

This sign represents ...............
(A) wHad 3.5 " ® fud 29 g awal & fau g
Entry only for vehicles with height above 3.5

meters
(B) 3.5 #Wex 9 offys wieE el dedl @ fen g
Entry only for vehicles with width above 3.5

meters
(C) UH =l & fau wow fost o9 3.5 W 9 afys 7 =

Entry for vehicles having height not exceeding

3.5 meters
(D) 39 W =g T

None of these.

This sign represents ................
(A) = =R wH
Stop on the left side
(B) AE SR FeAl SRR
Compulsory keep left

(C) @ ¥g
Turn left
(D) 3B TWF &I

Stop on the right side.
(17) P.T.O.




46.

47.

48.

Series-D

This sign represents ................

(A) o8 =y e @
Railway Station nearby
(B) == ed "HOR wifamn
Unguarded level crossing
(C) era wuur swifam
Guarded level crossing
(D) T | wEF T

None of these.

This sign represents ................
(A) e afsm #
Parking is Prohibited
(B) = s wifEm @
Both sides Parking
(C) Yferd wermar =it
Police Aid Post
(D) =99 | HEF T

None of these.

This sign represents ................
(A) Trmem 90 9=&
Slippery Road
(B) I sEwfEn T8l
No Overtaking
(C) 9% = wifEm
Risk of Ice
(D) urd wEA
Side winds.

(18)




49.

50.

51.

Series-D

This sign represents ................

(A)

(B)

(C)

(D)

AT qg THEA T

May turn to left

AW WET A AW GEAT dEER @
Compulsory go ahead or turn left
Side road left

FW g wfEr 2

Compulsory turn right.

e fog wffm #@ 8

This sign represents ................

(A)

(B)

(C)

(D)

gy fuy

End of Restriction
sefty e

Do not stop

qMed EEl wEN A E
No Parking

vy fey 2

No Entry.

This sign represents ................

(A)

(B)

(&)

(D)

M gEHL T am
Right reverse bend

o HeeRt TR
Left reverse bend

¢ gfew 7 wew =ferg
Turn left and go ahead
T ° & ARl

None of these.

(19)
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32 o5 fag weft| w8

This sign represents ................

(A) @ T FET T
Narrow road ahead

(B) EAETE TSR @
Dangerous dip

(C) e
Ferry

(D) =3 ® HE T

None of these.

53. 77 fag w=fil| w@ &
This sign represents ................
(A) =9 =t g @
Loose gravel
(B) e frwem wu 2
Slippery road
(C) mreX & & fou waw oy
No entry for Motor car
(D) 3T 9§ w1 Tl
None of these.
54. T fom wRE ww E

This sign represents ................

(A) = A= uew
Hump or Rough road
(B) 2@ Hal U=
Zigzag road
(C) =me TE
Ghat road
(D) T § w1 el
None of these.

Series-D (20)




55.

56.

57.

Series-D

T2 o w=fi| sw g

This sign represents ................
(A) w= H A @
Drainage in middle
(B) &m §a @
Bridge ahead
(C) = ¥ siwa @
Gap in median
(D) 3w =@
All of above.

7 fog wfm @ 2

This sign represents ................

(A) = B © €
Children playing

(B) o=Hl &M W ® T
Men at work

(C) Hg@ At wifem
Pedestrian Crossing

(D) 39 § wE Tl

None of these.

77 fog w=ftm = % -

This sign represents ................
(A) faemeff froy

Students prohibited
(B) 9=AEl eHd

Pedestrians permitted

(C) wamt fasy
Pedestrians prohibited
(D) s fEe)

Parking prohibited.

(21)




58, Tt 92 wR & fou s AR ¥ feu 9 9@ % H ey F B 8?2

One time tax for a New Car for :
(A) 39 &R F1 UsET o= g1 9%

Till the registration of the vehicle is cancelled
(B) 15 =& =& fau

15 years
(C) 5 awl & fag

5 years
(D) ¥ @ HE T

None of these.

59. UREEA A W AEEE W FH FT AW g €

Minimum age for obtaining Driving license for Transport vehicles :
(A) 25 =d
25 years
(B) 18 =
18 years
(C) 20 =
20 years
(D) 16 =)
16 years.

60. frell fosft amem 1 o wa aEh emar <9 e ®:

The number of passengers permitted to be taken in a Private vehicle is recorded
in the :
(A) uSfEd gamor U H
Registration Certificate
(B) 379 oA H
Tax Token
(C) wifqe o
Permit
(D) 79 ° ®IE &

None of these.

Series-D (22)



61. fdl ot @ &1 359 =fem +E 9

Before starting the engine of a vehicle :

(A) e & 9t 1 W T T9F % qol H WL SF R @A ANET
Check Radiator water level and Engine oil level

(B) ¥ @ ®1 Siw H =feU
Check head light

(C) 3% <M= =feg
Check brake

(D) 379 ® ®IE =

None of these.

62. BS-6 femg wmafem 22
BS-6 is related with whom ?
(A) 3 &
Engine capacity
(B) zeifash =med

Electric vehicle
(C) 959" #H®
Pollution standards
(D) yguw a3

Pollution control.

63. ¥rell onl R B ¥ HWag 7
Shaifali Verma associated with which Sport?
(A) =Tt
Hockey
(B) fa#ehe
Cricket
(C) frome =St
Shooting
(D) =H
Wrestling.

Series-D (23)
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64. eEE i few foen § fm 22

In which district Gadasaru Lake is situated ?
(A) IS

Kangra
(B) #vet
Mandi
(C) =m=
Chamba
(D) "l
Solan.
65. Find the correctly spelt word :
(A) Agressive
(B) Agrressive

(C) Aggressive

(D) Aggresive.

66. Find the correctly spelt word :
(A) Recruitment
(B) Recuitment
(C) Recrruitment

(D) Recruittment.
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67. Choose the alternative which best expresses the meaning of the word
“DILIGENT” :

(A) Hardworking

(B) Proud

(C) Weak

(D) Great.

68. Choose the alternative which best expresses the opposite of the meaning of word

“PERFECT” :

(A) Defect

(B) Complete

(C) Imperfect

(D) Ugly.

69. Someone has ................ my bag.

(A) move

(B) moves

(C) moving

(D) moved.
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70. T always .....cccovveunes before bed.

(A) read

(B) to read

(C) reading

(D) reads.

71. Find the correct answer : “Rolling stone .............cccccuneee.

(A) Gathers no moss

(B) Always shines

(C) Always falls

(D) Gathers no speed.

72. ‘Raj is an excellent driver’. Find the ‘adjective’ in the sentence :

(A) Raj

(B) is

(C) driver

(D) excellent.
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73. wH@ 1 faem s g @7

(A) sH@

(B) faq@

(C) 7=

(D) #Afyg@E

74, Hifg® &1 foem I ¥ w7

(A) Tefer

(B) =t

(C) dfea

(D) AferfeEal

IWE V= & AU U v @aEu

75. S g wHl T g3 Bl

(A) 999

(B) s1+aqd

(C) #1gel

(D) a7H|
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76. Wl Wgd & Ll Bl

(A) afeR
(B) @ed
(C) T=+g

(D) ==l

77. HPR I GG B

(A) =
(B) =praEan
(C) =

(D) T79 | *HE TEI

78. Y& V& H FI9 HiWC:

(A) =T
(B) ey
(C) s1=9H

(D) =9

Series-D (28)




79. Y& W& HT AT Wi

(A) TeTar

(B) =fm

(C) forftm

(D) =41l

80. VG VX I WA HITeC:

(A) Tarss]

(B) Tares!

(C) wrarfes

(D) vrar=RT|

gl. HEA G SHEYH WM HEl g 77

Where is the Central Potato Research Institute situated?

(A) =FTTET

Kangra

(B) wvst

Mandi

(C) Tersen
Shimla

(D) Frem|

Solan.
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82, feurae W ® UYH TEUE &I 97
Who was the first Governor of Himachal Pradesh?

(A) FvEd fae R
Yashwant Singh Parmar

(B) =@t o o
Thakur Ram Singh

(C) wg. =ehadl
S. Chakravarti
(D) =9 9 i &I

None of the above.

83. WEwHl T Weenl R fImen w9 emu 9?2
When did Mahatama Gandhi visit Shimla for the first time?

(A) 1921

(B) 1923

(C) 1925

(D) 1927.

84. e & ¥ AT Thel & sg w1 gU 5579 HiW B qE g fpendm § fwadt 2
The distance between Rohan’s house and School is 5579 m. What is the distance
in kilometers?

(A) 55.79

(B) 5.579

(C) 557.9

(D) 5.5790.
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85. 10 3R 20 & &= ¥ fwan foum gemd &2

How many odd numbers are there between 10 and 20 ?

(A) 4

(B) 5

(C) 6

(D) 9.
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